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Aufgabe 1 _
_— Quick:
4869

Vereinfache und entferne die Klammern.

a) (b—a)® — ab = (a? —2ab+62) — ab = a® — 3ab + b*

b) (a + 10)? — a2 = (a + 20a + 100) — a? = 20a + 100

o) (b —a)? — a? = (a? 2ab+b2) a? =b% —2ab+0

d) ba + (a + b)? = ba+(a +2ab+b2) — a® + 3ab + b?

o) (z+y)* +yx = (22 + 22y +y )+ yx = 2% + 3wy + ¢
f)ba + (a+b)(a—b) =ba+ (a®> — b%) = a® + ab — V?

da + (a+14)? = 14a + (o + 28a + 196) = a2 + 42a + 196
x—y)z—y:r:: (22 — 22y + y?) — yx = 2> — 3zy + 12

i) (10 — 2)% — 102 = (22 — 20z 4 100) — 10z = 22 — 30z + 100
i) (a—6)%2 —a% = (a* — 12a + 36) — a® = 36 — 12a

Aufgabe 2

Quick:
4869

Vereinfache und entferne die Klammern.

a) 8(a 4 11)% = 8(a? + 22a + 121) = 842 + 176a + 968
b) 9(a — b)2 = 9(a® — 2ab + b*) = 9a® — 18ab + 9b?
¢) (9 + a)? ~8: (a2+18a+81)~8:8a2+144a+648
d) 4(a + b)% = 4(a® + 2ab + b2) = 4a® + 8ab + 4b?
¢) 10(6 + x) 10(x + 12z 4 36) = 1022 + 120z + 360
f)(x—|—2) (a: + 4z 44)-3 =322+ 122 + 12

) 2 (a® — 2ab + b?) = 2a? — 4ab + 20
h) 8(a — b)2 — 8(a? — 2ab + b%) = 8a2 — 16ab + 8b*
1) (124 a)%- 9 = (a2 + 24a + 144) - 9 = 9a2 + 216a + 1296
i )“- 6 = (a? — 20a + 100) - 6 = 6a* — 120a + 600

Aufgabe 3 Quicle
T 4869

Vereinfache und entferne die Klammern.
a) (20 + 2)(20 — ) + 202 = (400 — z?) 4 20z = 20z — 22 + 400
b) (a + b)? + a% = (a2 + 2ab + b?) + a® = 242 + 2ab + b?
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¢) (6 — ) 2:(33 — 12z + 36) + 22 = 222 — 122 + 36
a a(a +34a+289)=a3+34a2+289a
)(b+a)( )+4_(52 a?)+4=0"—a>+4

f) (x—ll) + 1z = (22 —22x—|—121)—|—11x:x2—11x—|—121
) (a + D) —|—3—(a + 2ab + b?) + 3 = a® + 2ab + b* + 3

h) (b+a)? — 8 = (% + 2ab+ b?) — 8 = a® 4 2ab + b — 8

i) 152 + (z — 15)% = 152 + (22 — 30z 4 225) = 2% — 152 + 225
He—22—5=(2—dz+4)—5=a2—dz—1

Aufgabe 4

Vereinfache und entferne die Klammern. Wende die binomischen Formeln an.

a) 5 (15—|—:U)2:5—|—(x2—|—30x—|—225):x2+30x+230
b) (7—|—x) — 6 = (22 4 142 +49) — 6 = 22 + 14z + 43

¢) (T+a)? -6 = (a4 14a 4 49) - 6 = 6a* + 84a + 294

) 6 (x+8)2=6+($2+16x+64)=:1:2+16x+70
)(11+a) -9 = (a® + 22a 4 121) - 9 = 9a® + 198a + 1089
£) (b+a)? —5:(a2+2ab+b2)—5:a2+2ab+b2—5
g (x+9)° —4=(22+182+81) —4 =22 + 182 + 77
h)(12+a) +5 = (a® + 24a + 144) + 5 = a® + 24a + 149
(+11) 6= (2 + 220 4 121) - 6 = 622 + 1322 + 726
i) 2(b+ a)? = 2(a® + 2ab + b2) = 242 + 4ab + 2b?

Viel Erfolg!
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